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Il Semester 3 Years LL.B. / VIl Semester 5 Years B.A.LL.B. /
B.B.A.LL.B. Examination, June/July 2017
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Question No. 9 and any five of the remaining
questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or in Kannada
completely.

Explain the impact of Industrial jurisprudence on Labour

Welfare Legislations. Marks :
TAFT B ToASNY Boed BRReNS 39,0008 T[os=)

QTOR.

Explain "Industrial Dispute". When does an individual dispute

become an Industrial Dispute ? Marks :
“Bagens amd”d&l QWOR. OINTON 20T FodEs DT
Barens Qmnuemony3as ?

Discuss the liability of the employer to pay compensation
under the Workmen Compensation Act. Marks :

TOROFT TOBT LHACWE RN, IRAEFTD TOTIT VB3
mdﬁoﬁoz&i 233 R0.

Explain the different kinds of benefits available under
Employees State Insurance Act, 1948. Marks :

19480 mQ0r 30 Oo%g, RM FOWTWODRONE) BeBI0T NG
TO3RERINIR), DO
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Q. No. 5. Discuss the provisions relating to 'Health' under the Factories
Act, 1948. Marks :
19483 F00F S FTOWODRODY, ‘Qﬁdfa(’ﬁs% ' Do

TR, WA,

How to determine the contribution towards Provident Fund ?

Is there any mechanism to recover dues from the employer ?

Explain. Marks :
RACR AT F03R EFORS Wit Bk 7 VOIRESAT
BOTRODTNLICEATIT LD TRADEMN CSRFTHTTR

ogcsodoe ? DFOR.

Explain the provisions of Trade Union Act relating to the

immunities, available to a registered Trade Union.

FROFFT R0 BPACIROT & 030 3e0T0003 FIROFBO 503:»@

B0 URENER) HTORO.

Q. No. 8. Write short notes on any two of the following
(a) Workman
(b) Layoff
(c) General Fund of Trade Union.
CINRYTORCR ITRES B0 OO LTS 2800
(@) TFT
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Q. No. 9. Solve any two of the following problems :
3R TTOTTR QOB WADON

(a) ‘Karthik’ a workman who is laid off by his employer at Tumkur,
refuses to accept an alternative employment in another
establishment belonging to the same employer situated in
Mysore. Karthik wants to claim layoff compensation. Decide. Marks : 10

‘Bo8F T’ 0W ﬁ&orid@wﬁo :«56 SROES BRBROIOTOT
FAFIWVOT NTR> WO a’mca’owdo eazde meesa
dowbﬁ@doaﬁ mom ORRODNY udmj NOBR eﬁd&

ifmw aoaio,ums 20FE Eaérﬁ‘& T uo@&'b
wbmd BB awNosms QFFORD.

(b) 35 women are employed in Mythili Industries. Since only
two women workers were having children below 5 yrs. of
age, the manager of the Industry refuses to provide creche
for the children. Is the refusal correct ? Marks : 10
$280¢ BB TRY, 35 BonoR) FeadE SRRTHT]T. B[CY,
@wda Jonxor ws 5 wmm W mi@dmd E:Sdbod
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LTNFLD QTIBORITS. B3 A0TCES mobudde‘)

(c) Anex-prisoner brought an action against prison authorities
alleging that he had contracted tuberculosis as a result of
dust to which he was exposed while working inthe prison.
Will he get compensation ? Marks : 10
22 BN FOCKD TR WFRE RoTPFTBY  FevsY, R
SHENT m’omdoaod a’a:bd.raeni BN eI 2owd
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